6/13/23, 12:47 AM NCERT Class 12 Mathematics: Chapter —9 Differential Equations Part 17- (For CBSE, ICSE, IAS, NET, NRA 2024) FlexiPrep

FlexiPrep: Downloaded from flexiprep.com [https://www.flexiprep.com/]

For solved question bank visit doorsteptutor.com [https://www.doorsteptutor.com] and for free video

lectures visit Examrace YouTube Channel [https://youtube.com/c/Examrace/]

NCERT Class 12- Mathematics: Chapter - 9 Differential Equations
Part 17

Get unlimited access to the best preparation resource for CBSE/Class-12 : get questions, notes, tests,

video lectures and more [https://www.doorsteptutor.com/Exams/CBSE/Class-12/]- for all subjects
of CBSE/Class-12.

Question 76: Fill in the blanks of the following (i to xi)

2 ,
y

(i) The degree of the differential equation d +eux =0 is

ax?

Answer: Not defined
dv \ 2
(ii) The degree of the differential equation /1 + (_y) =x is

Answer: Not defined

(iii) The number of arbitrary constants in the general solution of a differential equation of order

three is

Answer: (3)

(iv) d 2 = ! is an equation of the type
dx xlogx x

Answer: d +py=0
dx

(v) General solution of the differential equation of the type i—x + Pix = Q, is given by
y

Answer:
x.el Pdy — /Ql {efPldy}dy+C

2 s .

(vi) The solution of the differential equation %dy +2y=x
X

Answer:

= x +Cx72
Y=

d
(vii) The solution of (1 + x?) d_y +2xy—4x> =0 is
X

Answer:

4x3 -1
=———+C(1+x°
Y 3(1+x2) ( x)

(viii) The solution of the differential equation ydx + (x + xy)dy =0 is

10f3
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Answer:

xy = Ae™”

. . dy . .
(ix) General solution of I +y=sinx is
X
Answer:
| x
y= E(smx —cosx)+C.e

(x) The solution of differential equation cot ydx = xdy is

Answer:

x=Csecy
(xi) The integrating factor of % +y= L+y is___
Answer:

s _ €

X

Question 77: State True or False for the following:

(i) Integrating factor of the differential of the form 3_x + pix = Q is given by /719
y

Answer: True

(ii) Solution of the differential equation of the type 3_x +pix=0Q,; Isgivenby x.I.F.=(I.F)Q;dy.
y

Answer: True

(iii) Correct substitution for the solution of the differential equation of the type %f(x,y ), where
f(x,y )is a homogeneous function of zero degree is y=uvx .

Answer: True

(iv) Correct substitution for the solution of the differential equation of the type j—;g(x’ y) where
g(x,y) is a homogeneous function of the degree zero is x =vy .

Answer: True

(v) Number of arbitrary constants in the particular solution of a differential equation of order two is
two.

Answer: False
(vi) The differential equation representing the family of circles x* + (y—a)* = o> will be of order two.

Answer: False

L

(vii) The solution of g_y = (1) Tisy? —x
X X

W

Answer: True
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(viii) Differential equation representing the family of curves y = e* (A cos x + Bsinx) is
d’y 2dy

Y ay=0
dx2 dx Y

Answer: True

d +2
(ix) The solution of the differential equation d_y =T Vix+ y=kx* .
X X

Answer: True
. xdy V. . (Y
(x) Solution of — =y + xtan —issin( = | = cx
dx b X
Answer: True
dx d*y

(xi) The differential equation of all non-horizontal lines in a plane is e O.d—2 =0
y X

Answer: True
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